EARAROBEEIERT — 2 N— IBISH —F

20175148 (k) 19EA%3H

Kl c%—2n v5%3%&

(xwlw | lmEmml - v 6) o s

[A~E£] 1 7% :230,000H ~ 23%&:53,000 M  33#&:21,000M ~ 43%&:12,000 W ~ 573 :7,000 8

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N HEBIEfE :32. 02— . — HETE (£8)
11717 Sy T Z O 3 o 1(3_2)1 2-2-2-1 | 40.1 3 igs)) Eﬁg?— =1
Zox4o BnAREY R HET7— L
LA 4t 3 | FEHHER] 1:32.2 3-3-3-3 |40.6| — 4 47 |EBXTE (EB)
2|8|10| / —TNEAY A51.0 (172 sy | il
LT RYf Y2y 2 B:IIXRRT—FK BE B
3 [E B3 | AMALZ 1:32.2 6-6-5-5 |39.0| — 9 446 | KR (£E8)
3|5|5|13Fv>Fv 7 54.0 (7€) g |BAET
LNMVTTY BRATITLT A KBS
— ft 3 | WO# 1:32.5 1-1-1-2 | 40.5| — 1 438 | ®EM ((£E)
] 4 AXZATIL 54.0 (11/2) (+5) INHRERTY
L:A—KR7I5F4% B:LTF1Ta—Fv— AW 4R
S S t 3 | B 1:32.6 4-4-4-4 [39.8| — 8 438 | LIERE (1£E)
501[1]/\vE=NN 54.0 (3/4) +8) el
LTHAFUS = BTSLTTF4Y A5l BiER
o o S FHAFIR :32. —5-7— . — HHEe (E8)
6l7lglE>TRILT 1> 3 54.0 1(;?/24)8 5876|399 2 (4_155) WEEE -
R4 oYa—H— B:RE-FI7O ZE—RITT7— L
. N RHEET . ~7-6- — hEFE ((£%)
7lglg|vavvxEs i 3 ol 1.(3233.2 7-7-6-7 | 40.0 5 zz(snz b i
L:7vis—L B:ovvyFx Nipse]
< = . BRERE : -9-0- — BARBE (EH)
8 6| SV IALF AT i 3 L 1.(343).9 9-9-9-9 |40.3 7 zzg;t g
L:VvAT7hyh— B:vabTFUSHyY HO 5k
— RBEREZ :34. —-8-8- . — FlllEE (1£8)
9 N EZa=PET Y L] =5 1(324)3 8-8-8-8 | 40.8 6 (ztff) 5@#%& "
R:¥xrinqo— B:T77I)F7—b=U— ZRBT 7 —L
DI = = = - = — | HiHFEZ (E8)
% 2 | WA i 3 540 (B4 (—) |BEA -
x> inqo— B:vHH—x% patiikie)
® 1—F—@EBIERL
1T=7r= 4,7,10,1,8,5,9,3,6
2a=5F= 4,7,10,1,8,5,9,3,6
Ja=5= 4,7,10,1,5,9,8,3,6
43—+ — 7,4,10,1,5,8,9,3,6
[ N5
B O 7 350M 714K 7-10 380M e E 7-8 700M JEE 5-7-10 12,470H
B B 7 160M 5-7 2,360 B = 7-10 1,250 EE 7-10-5 40,4104
10 280H 5-10 4,430 B H 7-10 2,090M
5 1,140

ABICOVWTRDTEEERROODE. TR LIV,




